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Oger==EH| 32,393
—JIZ2MNREE 7Y 100,000& »32H 3,200
—JI2FAE3H| 150,000& 12 150
—SAEX 2Y 20,0003 30 A +128 7,200
— =AM EH Y 150, 000& »4CH x4 3 2,400
—SAJ EE ¥ 330,000& *4CH +23] 2,640
— SAI = 500,000& »4CH »23 4,000
—ZEH EH 7Y 237,000 »13CH =33 9,243
— A2 EUFE 110,000 =8CH 23] 1,760
—SAI Y= (0ISCREA)
150,000 = 1CH = 1200 & 1,800
o=t 8,000 x32H 43| «12& 12,288
02 2324l 2,369 1,709 660
Oz22= & HMA 2,369
—OlHE DIYA ZAS 9B HAY 2
55,000& 123 660
—QEUAIEY JH MBE
37,4003 x 13| & +128 449
— QA SNZE 30,000& x12& 360
—AsSE=EHLN HAHEAE A SEZ
2,500 *30H 128 900
202 044l 76,800 72,000 4,800
01 = LH o4 1l 76,800 72,000 4,800
ORIRSAY ARET Oft]
20,000 *32H «103| x12& 76,800
203 R =&l 4,428 4,320 108
04 FN2ELRZ=TH 4,428 4,320 108
ORAN2EYF=AHI 410,000& 123 *90% 4,428




